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GROUP-A / (- 141)

-~

1" For cach question given below four answers arc given. Out of four, only one answer
is correct, Sclect the comrect answer, | x4=4

;wu&aImmmmﬁmm:m&naMmewwm A%
o

(i) The time period of a simple pendulum is 0. § seconds. The number of oscillations
the pendulum would complete in | second is

51 T CIRTA IS 0.5 (WF0| ORI | (e Syl T oIvET A
(@ 2
@ 1
©- 0-5
) 0-2
(i) Which of the following staternents about the given reaction is truc ?
ovE RIFThR ovzs o= et B s
H,S+Cly - 21ICI+ S
fa) Cl, is an reducing agent.
Cl, <1 Fatas ol
'@ H,S is an oxidising ageat.
.S <5 wF o)

() Cl, hnswce_p!ndetnclmm.
Cl, & 3FEA =29 F/w)

(d) M.S is reduced to §
H,S w=aRta Refts tasi

BELLAL HOSSAIN MONDAL
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(i) The class of coal with highest percentage of carbon is —
A RS e A 93 TR G T —
fa) TLignitc Coal

e T

.(b) Anthracite
AU

() Bituminous Coal
fAg=em w7

(d) Sub-bituminous coal

wa-Rpfere Tvem

BELLAL HOSSAIN MONDAL

(W) A person uscs a corrective lens of power —~1-5D. Tle is suffering from —
T METT —1.5.D T2 5 JITA A | (odn uRy e g —

@) Myopia
'

(b) Ilypermetropia
T sraray Toim

(¢) Preshyopia
corEm T

(4) Blindness

e

2. (a) Distinguish between transverse wave and longitudinal wave.
WY TN WF U SANR AR el F

™

(h) The wavelength of a sound wave is | metre and frequency 4x10% Herz. How
much time will be nceded by the wave 1o travel a distance of 24m 7 2

B13-G5¢c (3] Contd.



<51 v A Al 1/0R T e 4x10° e\ G T 2Um Y
efeaw afaata AR s e =~

Or / wv7

The [requency of o sound wave is 250 Hertz and the distance between consecutive
rarefaction and compression is 2 meres. Find e velocity of the wave, 2

<01 1% TR BHIT 250 TF | TEFAT PR WP ATEG I T 230R e
Tl @ fefa =)

(a) An object {5 sirunted in ‘between the ecntre of curvature and the focus of a
concave mirror. Draw a my diagram showing the formation of the image, 2

E¥F S WL SRR S T IEe o] A (99 20N (B wve
efefea n twjeun

() A concave mirror of focal length 15em forms & virtual image of an object. The
image is twice in size compared 1o the object, Find the distance of the object from -+
the mirror. 2

15 87 w'sin i wwzn oo @u L0 T A, efE 1k =0 weEE
errs ofEfaim wrer gus | ot o smEE e el )

Or / 5%

An object is placed 10om in front of a convex lens of focal length 15om. Find
the location and magnification of the image. 2°

15 (89 w'ang agd @R Tor (e v 10cfiaqs <51 e e oo Teoe | =R
= = frda T =)

fa) Explain why an underwater object l]!purl to be situated above s actual
position, ) 2

vile Ty Ty o) oS YRt e et (A fa ova T, et

() A ray of light is incident normally on the boundary of two transparent media. \Will
the refraction occur 7 Give reasons for your answer. |

B13-GSc [4]



mﬂ@mmz&mmmmm|mmm9
CETRA BT 0T @ Weelram

Define electric ficld intensity. Compare the motion of a positive charge and a
negative charge in an electrie ficld. 2

AT CF AREA A B e OFg Qe S O e A 1A
o

Three resistors of resistances 3£2, 402 and 52 are connected in series (o a battery
and is found that a current of L4 Nows through the circuit. The three resistors arc
now replaced by a single resistor and then also the same current of 14 flows in
the circuil. What is the resistance of the single resistor ? 1

3Q 40 =7 50 2 i Ee s wETe OB IR BIE Al S TIE e
FETOM S | @f=erare e eaifEe e | Tl crves == o o6 e S
T T4 % ﬂurﬁmﬁrr'eﬂﬁrﬁﬂswmﬂﬁu\ 14 27 tx i) o
CIFeA A Rawre

"In the circuit given below four resistors Ry =580, R, =1002, R,=3002 and

R, =542 and a 12} battery are connected. Caleulate (i) the lotal resistance in the
circuit, (7)) the current in the circuit, 2+1=3
T TEALOTE DGl (T Ry =502, Ry =100, R, =300, R, =5Q TF abl 12V
GO FECae A1 Tarm | ETCOMA (i) 92 A WE (1) o Rye 2R ot siem Fan

R,
: WW-
pd I
IIV_‘;_ R
Eanin—y

BELLAL HOSSAIN MONDAL

Or / 9937

Show how you would connect three resistors of resistances 642, so that the
combination has a resistance of 2£2, ..

- et 602 e Tt AR TR AEIDMA A 292 X3, Y

5. fw)
®)

(c)
B13-GSc
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(d). The specific resistance of a metal conductor is £. You are given another conductor

of the same metal which is twice the length of the first conductor. What is the o
resistivity of the sccond conductor ? 1+

AETE Mg AR ey 2. are wigte PR wneR e vod tnfla B e
(T cerre o taem) Bl oo e e

(a) Who discovered the relation between electric current and magnetism ? Describe

the experiment which showed that the electricity and the magnetism are related
phenomena, 1+3=4

fage TE TIA TS G AR (A S SRR Ry o pew o W
7 e «ifEbe i afevm war oFrwi b )

Or / g7

What is electromagnetic induction ? Deseribe the experiment to demonstrate the

phenomenon of electromagnetic induction. 1+34

R P SRt e e Pl SR ofot e afiete ot o 2+

1 : ‘ :
() Distinguish between an electric motor and a generalor. ' |

e 0% o apfes Beemsa «infay fran)

() What is a covalent bond ? Explain the formation of water molecule.  1+1=2
FRLARR AGER ¥ QAL AR =T 9w g

(b) Explain with reasons : (any one)
e X T = (R T @b)

(0 Tonic compounds are crystalline solids. 110 W o
SN (AR TR oo o BELLAL HOSSAIN MONDAL

(i) ~ MgCl, is highly soluble in water but completely insoluble in benzene.
MgCl, 171 s =1 frg csfiere wfdem =mei

B13-GSe [6]



(c)

®)

9. f(a)

®)

B13-CS5¢

2 and B are two clements having valence ¢lectrons 6 and 7 respectively, Find out
the molccular formula of the compound formed by A and B. : |

G A @F? B A TH 6 TF 7 B (S 3R SRl A WF B @ 15m F4 @
T e SHeu|

What are oxyacids ? Mention the anions of the following acids : 1+1=2
wiHafRs 2pr carer? ons fin WeSHTE GSEREE SO A
HNGy , H,CO,
Or / w7
What are bases ? Mention one property of bases with a chemical equation.

1+1=2
AT S ATE P S 01 & AEeT A S 1)

You are given two samples of pure waler and lemon juice in two test tubes. How
will you identify the lemon juice with the help of a suilable indicator ? 1

ﬁﬂﬁmqwqmmﬁﬁmﬂlwmwﬁmmlmmw.
WS L G R s

What is a homologous serics 7 Explain with an example. 1+]1=2
TR c=F T QA 9B TR TATS A =4

Or / 9931

What is a functional group 7 Explain with an example. 1+1=2
FIGTA PR TR A 1 O THF TACE W T |

To which class does the following reaction belong ? Mention the structural features
necessary for the compound to exhibit such renction. 1+1=2

Fefite REs aF @iy O3 e ffFm ongrta 2 @adn e fe
afer war R

GH + 8 — GH, Bn

(7] Contd.
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10. (@)

()

1. (@

B13-G5¢c

Define and explain the terms calcination and roasting with examples.  2+2=4
RERA S SIS 2% [h[ e B @ Segada T e S X

-
Or /7 weq1

Write the name and formula of an important ore of Zine. Describe with diagram
the vertical retort process for extraction of Zine from roasted ore. Write the
chemical equation involved. 143
T <01 sF o TR =9 o Aws e | ey e o f 1460 e
e frarm mmﬂlm TrAnf s B

Answer in briel © (any o) 1222

51 =@ Fl - (7 coroer bY)

(i) An ore used for metal extraction contains CaQ as gnnguc Sclcct n sunnble
flux for its removal.
Mg FEMAT s <5 WAE G0 WRE we uie | Tur wivAma Ty «b
Terrer e affE R

(i} 'What is the process used for concentration of sulphide ores?
WATRE G AT owE [

{7ii) What are the metals present in the alloy Bronze ?
A N AT i vy ume:

Answer any two of the fnllm;'ing : b 1%2=2
©=Te famarm f7 o ¥ & o

(i) Name the eatalyst and promoter used in the manufacture of ammonia by

[1aber’s Process.’

ﬁfu:‘mw&umﬁmwmmmmww@kmmmm
|

(i) What is anncaling of glass 7
Tl W Mefean By

(i Name the raw materials used for manufacture of Portland cement.
fitis Brata Teoree TwaR 31 61 TRIEA 7= T



12,

13.

(b) Name two natural fungicides. , 1
) e cSgamre A ford)

What is meant by cracking of petroleum 7 Namc two petrochemicals. I+1=2
o o wir-Sge Wi T e ot coff e S e R

Or / &937

What is the [ull form of LPG ? Write the name of its principal constitvent.  1+1=2

LPG 3 w={el A f2 INA e T S fern

GROUP-B / (2-=t4f)

For the questions given below {our answers are prmndcd of which only one is correct..
Select the correct answer. 1x2=2

m«uﬁmmmmﬁnﬂwmﬁmﬂmwﬁmw—mwmmﬁmwﬁ
e :

() Balanophora iﬁ a
M T &

(a) total stem parasile

T wla SR

* (B pantial stem parasite
N T AR

(c) total root parasite

i M B R

ra) pm“‘l root 112 BELLAL HDSSAIN MONDAL

e e Tl |

B13-GSc¢ [9] Conid.



fii) The chemical substance that is produced during lightning is —
frstl cocwafere Tsfe carat arAmfer opd P e —
' (a) Nitric acid
RETRaC
(5) Nitrous oxide
Ae0re T%E
(c) Nitric oxide
TEES TWES
(d) Sulphuri¢ acid
wAFE AT <R/
14. Answer the following :
| e A S A

(@) Write the Phienotypic dihybrid mio.
W [T T )

() Write the name of two glands present in the sk of man.
AT wS ] 5% e o

(c) 'What do you mean by crossing over ?
oL =sM I e e

15. fa) Name the disaccharide found in milk.
TS o Tt e s v

(») Write two principal functions of liver.
T I 2 T T

Or/ 9%

Write two significance of photosynthesis.
FAICR AR o1 ot fere

B13-G5c
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16. Write any three dil‘l‘mnrlccs between acrobic and anacrobic respiration. 3
T S G2 4w sTie il e R«

Or/ 977

Wrile how oxygen and carbondioxide gases are transported in human body. 3
T (S STTE % %A -TiE asi%s o e v vifRarfRe = =

17. (a)

()

IR. (@)

(%)

19. f(a)

()

B13-G5¢c

State onc harmful efTect of transpiration. ey ; 1
AT b1 weiferer Brm = | o

What is lenticular transpimtion 7
ASAGIH 2TTH A (FCA T

BELLAL HOSSAIN MONDAL

Fill in the blanks : |
A SR “ s '

The blood vessels having extremely thin wall for exchange of materials arc called

=< FfeR ana e IEaeE o W en W CEEe
@M= |

Draw a labelled diagram of intemal structure of heart of man, "2
A AT WAl 424 ol B o =i

Which hormone controls apical dominance in plants ? |

= T T i A ersree! g aae

What is autonomic nervous system ? Write the name of two parts ol aulonomic
nervous sysiem. 1+1=2
wfan unpeg B e Tofirn wnas o o A

Or /S

Name the largest endocrine gland in human body. Writc onc important function of
the hormone produced by this gland. 1-+1=2

RFRUTZA SO0t SIed Freeaa STom 7w &% sfem = v wm's [ ab
em Al o )

[11] Contd.



20. What arc the main nitrogenous waste materials produced in the human body 7
T (T 7 (21 2R SRS Teae (A5 <A 2 e

21. (@) Why reduction division is essential during gamete formation ?
GERTET 1A FTS ETT e R amee e

(b} State the function of interstitial cell stimulating hormane (1CSH) in man.
TP (e DT e B TR I S ¥R

22. Write how mﬁlinn causes variation in organisms.
TenifFae P & s ferer A 7w Fem

73. Wrile two reasons for conservation of natural resources,
e STop e 31 e Sre = |

r /99T

Why rain water harvesting is essential 7
TGP 1 AR e s

24. Explain how embryology provides cvidences in favour ol evolution.

=AM e tard FRem Ao Ay S it =20 )

Or/m

Discuss briefly the Lamarck’s theory from four important angles.
| T SRSt ST ey Y et o SRt s w1

B13-CSc [12]
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Answer Group—A and Group-B in the
same Answer Script.

FY O I-=W-T Tes aredn IS TR

GROUP-A / (T4t

1. For each question given below four answers are given. Out of four, only onc amiwc_r
is correct. Select the correct answer. 1x4=4
o 2ifSTeT 2% S Sk Ted il wieg | 51RoE foose Wiz v% Ted | w Tl iR
Tt
()  The time period of a simple pendulum is 0- 5 seconds. The number of oscillations
the pendulum would complete in 1 second is
@B e (MIEE ~EIE 0-5 (2Pe| IO 1 (e 7 3/ MFmE 70
(@) 2
®) 1
€ 0-5
d 0.2
BIBFGSC ' . [ 13 ] BELLAL HOSSAIN MONDAL Contd'



(ii) Bauxile is a
RE: EUEG|

(a) Silver ore

ZFerm wRe

(b) Platinum ore

caioate il

(¢) Aluminium orc

@

(i) Which 6fflie following is a [dis€asc caiiged by Protein-Energy Malnutrition ?
T (I CrsR-2bT e Ao Sy

(b) Kwashiorkor

Faimga

(c) Beriber
CIEIIES
(d) Goitre
=T
(iv) The speed of light is the maximum in —
AR @ HifRE —
(a) diamond
e
(b) glass
' FHS
(c) water
Airs
(d) vacuum
‘F‘U@ - | BELLAL HOSSAIN MONDAL
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'd

(a)

*)

'(c)

(b)

(c)
4 (aj
B13-GS¢

Define frequency of a wave, |
A SO T e e |

What are ultrasound and infrasound ? Mention two uses of ultrasound in medical
scicnee. ' 3

e T TR A QI BEeRmme S o e =0

The distonee between two consecutive crests of a transverse wave is Im. The
velocity of the wave is 10m/sec. Find the time-period of the wave. .2

mw@rmﬁa%mm \fiitre | TahE ca 10 ﬁ-‘n/m
TV T A SiEe)

Write one use of a concave mirror. . |
s WICoNE a5 AaEE

Draw a neat labelled diagram showing the formation of an image of an object in
a plane mirror. 2

FE AT S Gl O SEE S oyl om Fret BiE whive e 3

An object is placed at a distance of 10cm from a convex mirror of focal length
15¢m. Find the position, nature_and magnification of the image. 3
15 (& %R G ¥ $GE e S 10 (8 wiews S Tw w9 CE
Tz | e e, e wE RS fda =)

Or / 9937

An object is placed 10¢m in front of a convex lens of focal length 15¢em. Find
the location, nature and magnification of the image. 3
1S (8% T TR e B (T o1 1O e bl T T (U T | e
e, ogfs wm fads P =

Deline refractive index of a medium.
MR e A

[15] Contd.
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()

5. fa)

()

(c)

(d)

6 fa)

B13-GSe

For what pheoomenon of light do mirages occur in desert 7 Explain the formation
of mirage in hot desert. 1+3=4

(PR CPICD! {0 A0 g ey A% %13 0 2 S Targfare w45k 12 A
|

State Coulomb’s law in clectrostatics with its mathemaoltical expression. 2
Feafqras waes S ARy exrmlmz &)

Distingnish between the polential difference between two peints and the polential
at a point in an clectric field. 2

tagies cws P P e oo wie b R e — 9% iR e o A
ety

Define clectric field intensity. A charge of 5%10™°C cxperiences a force of
2x10~* N at a point in an electric field. Calculate the magnitude ol the intensity
at that point. . 142=3
TAITes O SR AT 7401 | 4 (S O CTCT 1 e 5% 107° s T
G B 0 T W 210 7 AT 1 IR T4 e ol sRerE =W Fefr s

An clectric lamp is connected to a 2201° line. The current through it is 2-04.
What is the resistance of the filament of the lamp ? 2

51 TARET (571 Ol 220V SIZ HIE A A T208 | T0A AR 2lES [rea
fmg 2- 04 | cr=iom wherm o e

Who discovered the relation between clectric current and magnetism ? Desernibe
the experiment which showed that the electricity and the magnetism are related
phenomena 1+3=
e T FarE arEs R R (A WiEeE A e a9 peed ae
AR effemn W R0 I =)

Or /7 9Ys1

-

What is electromagnetic induction 7 Describe an activity which demanstrates the
phenomenon of electromagnelic induction. 143=4

e e e Rgwedim Tnem AR orjem &b wRl 36 =)

[16]



(®)

(c)

7. (a)

)

(c)

- B13-GSc

What is the minimum amount of information needed to determine the direction
of the magnetic force on a moving charge ? 2

mﬁﬁWwasﬁaﬂqﬁsﬁﬂamww&mwmmﬁﬂm
wix oA -

Name a device which converts an cleetrical signal to sound, 1
T ATTES A TR w1 A T F

What is a covalent bond 7 Wrile two propurtics of covalent compounds. Give an
example of a molecule formed by triple bond. 142+1=4

sz TR T CaTeTe AR (et o wf o RreRY e G 0 S
T & _ ‘ o

Answer any on¢
fi corre «ora oA |
(i) Choosc the polar molecules from the following : ~ ° | 2

e T i A PR TR e
CoHy, Ha0, CCl,, NH,

.{il) The formulae of some ions are given below. Find out the formulae of the

compounds named below :
lons : Mg, APt O NT
Compounds : Magnesium Nitride, Aluminium Oxide. 1+1=2

mﬁgmwmﬁmm:wmmwmmwﬁm;
= 1‘,{32*& AP 07 NY
1 - R DT, SRR S

Give rcasons why ! . 2
T wofa B
Sodium chloride is soluble in water ?
wfour 3% v g
[17) _ Contd.



8. (@) What arc metals ? Write briefly about any three chemical propertics of metals.
1+3=4

- . Pt
419 T QIET? 497 i oot ammfe of R B -7
Or / 93y
What is concentration of ore ? Describe two processes of concentration of ore.

143=4
R Sl 2 S bR 1o Aw e 2@ =0

(b) Statc true or false —

All ores are minerals but all mmerals are not ores. - 1
T (7 STy e 99 — )
AFCA WER AT g Tt afaee wieq w2w|

. (¢) Answer anyy fthe following™ : Vaxd=D
) 3 (IEaT BIRvIT e
(i) Namesa metal found in lfreesstate iifature.
2 BO e SR coirat bt e |
(i) Wriféilie ndme ofone metalloid.
o1 e AT 17|
(i) Out/oFsoditm copper! which'melal is more reactive ?
RS SF T7RA 79 @ wqﬁasm?

(i) What is produced when gangue-combines with flux ?

cfean e e RateeR =oe @it =3, & Beom zue

(v) Fill in the blanks ;
& 9 2f7e =W

Brass is an alloy of zinc and :
e Za e 799 49|

BELLAL HOSSAIN MONDAL
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9. fa)

‘q.

®)

‘10, (a)

®)

B13-G5¢

Write name and formula of : 1%2=2
W =W AT |

(i) an aromatic hydrocarbon

01wl g

(ii) a parmaffin
o1 coratfier

Or / 9

Write the names of

5 o

BELLAL HOSSAIN MONDAL

(i) H-CsC-H

(i)
Explain ‘why carbon exhibits tetra-covalency. 2
e 3 — T T BT O |

Or /7 993
What is a homologous series ? Wrile the namc and gencral formula of a homelogous
series. ’ 1+1=2

sl el e CATCET T 1 FRAAW A SR WP HEe e

Write the chemical equation for manufacture of ammonia by [laber's Process.
Mention one usc of ammonia. 1+1=2

mm«&aaﬁm@wmmnﬁamﬁmmﬁmmw%mwn
Or / w93t

Write the formula of bleaching powder. Wrile one of ils uses. 1+1=2
fife «iiSea s o Sum o0 e

Name the compound of sodium prepared by Sclvay process. -~ 1
WS +fefeTd 2% <A1 Ko o 7w e

[19]° ' Contd.



(c) Fill in the blanks :

N1 T o@d =0 .
Fu,mfng !ulphuric acid is known as BELLAL HOSSAIN MONDAL
TR e G s e

I1. (@) What are vitamins ? How are they classified 7 Give. examples. 142=3

O = e T ety fiRss w0 2u e Surese fan

Or 7 w37
What is food adulteration ? Write the names of two food adultcrants. Mention the
foods for which they are used as ndulterunts. 142=3
MMEY CSETT T (Y 501 AE SRETEe e e e  aoege
. AT (SHEEET O TEEM 3= e
() What is Fluorosis ? 2
Faliclil
(¢) What is iodised salt ? |
o femyE Ay &y .
12. (@ Write iwo characleristics of a good fuel. 2
i 2 01 Ly
Or / 5%7]
Name two devices used to hamness solar energy. : ' 2

CTIR1& BRI AT 2o ] 1 FgfFm = B

() Give reason why
& foul smelling gas is mixed with domestic LPG ? 1
R weifa — o o e aEs LPGS 961 yiage ofs fafa =t o

B13-GSc [20]



